R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-17184\C - Drawings\Current\FL-17184.1-2.dwg, FL-17184.1

I plastpro

o R

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS DOOR
INSWING/OUTSWING
IMPACT

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 5th
Edition (2014) Florida Building Code (FBC) structural requirements
excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing or
stucco.

3. When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an
impact resistant covering. This product meets missile level "D" and
includes Wind Zone 4 as defined in ASTM E1996 and Section 1609.1.2.2 of
the FBC.

4.  For 2x stud framing construction, anchoring of these units shall be the
same as that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

__37.50" MAX. O.A.__,

TABLE OF CONTENTS

SHEET #| DESCRIPTION

TYPICAL ELEVATION, DESIGN PRESSURES & GENERAL NOTES

PANEL DETAILS, COMPONENTS & GLAZING DETAIL

HORIZONTAL CROSS SECTIONS

VERTICAL CROSS SECTIONS

BUCK & FRAME ANCHORING

N[ [WN]|—

BILL OF MATERIALS & COMPONENTS

FRAME WIDTH
- -
T T
o o
1] ]
L s LG
W= wo
SO =T
<L ZIn
@ Ll
LY
o T
<FE <"
o o0
2 . Z
X = X =
< % 0
=z =5
-
o @)
o e}
ve) ©
o o))
GLAZED SINGLE DOOR
MAX. O.A. GLASS DESIGN PRESSURE (PSF)
SWING FRAME TYPE
DIMENSION POSITIVE NEGATIVE
_ 37.50"
OUTSWING X +50.0 —-50.0
96.50”
- G1
37.50
INSWING X +50.0 —-50.0
98.00”

T
RO 0
o¢/ o0
. -
-.w’ g))
‘O"JEGF)
E: <=2
N
&85,
FOSY o
5SSz 8gm
oS Siog
i S Jo0om
\\\ a>,,50)
A Zdwso
88°2
m S .
o
- o xz3
o ‘¢ Z 90O
§ Eoa 500
a £o O .S
E&ﬂ' 5000.
o ] O = 1]
< Mmoo
8y
o c
E 6%
3N
§ tu
o 2o
%)
=
5o
=
0
o ol
S| 28
2 Z L
& Sz
Q_U) . |_Ll.|
=0 >_',<>t0
2] |zl o
SCJ E—l=B
ox (G You
4 9 L8
wi <6%
3] xl 9
=] o%m
S
x < a
o a

JK

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

NO.| DATE

REVISIONS

DATE: 8/25/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-17184.1

SHEET 1 oF b6

@ 2014 R.W. BUILDING CONSULTANTS INC.



“ON|] SANVLINSNOZJ aNIaing ‘Mm's Loz @

€186 "ON 'v'O 3dg4 SNOISIATY
L616'659°CL8 ON euoyd vl NIz % A9 31va_JON| « 3¢
S6SEE 74 ‘O9UIDA ‘OSZ Xo8 ‘O'd \Sv SININOWOY STvLId ENVd  Fyr 587 Grio2) a3 mis oL auvaan| sivze/vol L || 41X 2| 3
"ONI ‘SINVLINSNOD ONIGTINg g. ‘X1BNISSY 80 19vd o=l || 8
//a::_:::s\ ﬂ = s ™ 2‘
R WNO//,, 60vCH ‘ON ‘T'd ¥00Q SSY19438!4 ©l |5|5lg
Doy Y, PSS 4 UopUAT 0¥d1S¥1d alilal5E 2| g
I/&... .... \J\\:nm peJpdeld sjuswnooq :10Ndoad S|3|8|3 m %
£/ .....m‘.n.\\.mm\
ixi ¥ @Q\Q
F . eOWeYON ¢ S
\\ oac oc. ll’
Z e NN A
7, ~Coq N3O ‘-.oo) N
\\\\&Q\s...:.. P o
\\\\ Iom //// ® >
g & )
~ =
5 0
[ ] ”
g 2 L L 2
NG L Y S
© & :
o
L
mm -
—|
=
<
&
//// /// Q
S
‘S S\ &
: N— m
O =Ne @
JI\ (@]
-~
—

/ .000°0¢

«£0L71 «786°0

|

TOP RAIL
ﬁ‘ 1.584" ’«—
@ BOTTOM RAIL

1/8" TEMPERED GLASS

AIR SPACE
1/8" ANNEALED GLASS

0.090" SAFLEX® PVB

INTERLAYER

1/8" ANNEALED GLASS
— 1.584"
//

1" OVERALL
0.980"

GLASS THK.

;;

/1
[/

/7]
1/

INTERIOR
EXTERIOR

HINGE & LATCH STILE

REINFORCEMENT

/" 2"\ HORIZONTAL CROSS SECTION
35 {
@LAZING DETAIL

g

\2/

34
3/4” GLASS
BITE
—]
—J

36
A
00
10

STILE EDGE

]

%

35
—11.200" |=—

\\_ YL r

@ HINGE & LATCH @

IHOIFH 13ANVd "XVWN ,GC'G6

« ‘|._.Io_m__._ ‘071'd "XVA ..O0.0AJ
q

5 &
1 S Z
< @

il =

e . ("dAL) 00
* _ T._m@ XYW 0L @

XZ 'BMPZ-T'¥8TLT-Td\Wuaund\sBuimelq - D\P8TLT-14\s|eroiddy 19npoid epLOIF\LNINYINYId 2ul ‘01diseld\siusiD\Y

®

21.00"
MAX
D.L.O
WIDTH

DOOR PANEL

35.75" MAX. PANEL
WIDTH

7]




R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-17184\C - Drawings\Current\FL-17184.1-2.dwg, 3X

kwiser | 1OCK:  SIGNATURE SERES 1/4" MAX.
DEADBOLT:  SIGNATURE SERIES (780) SHIM SPACE —= '__
YALE LOCK: YH COLLECTION
DEADBOLT: YH COLLECTION (80 SERIES)
LOCK: "F" SERIES
SCHLAGE DEADBOLT: B&0/62
INTERIOR
See Hardware Table Z
=§
3
EXTERIOR
/~3°\ HORIZONTAL CROSS SECTION
\_3_/ SHOWN W/1X SUB—BUCK
. 1/4” MAX.
¥ I S1H/|nj SPACE SHIM_SPACE — |=— ({
(TYP.) 0.15” 0.15" (TYP.)
. ~ —=] |=— CTR=SNK CTR=SNK— —=— % -
\/"/\ @ TYPICAL TYPICAL @ /\ﬁ\/
ST 13 13 : v"
S INTERIOR INTERIOR o
S = : \ R R
v < v ¥
A | J . : i .. Ji st |4
; v == :é \ : v E o
qv_' v N < * . X ﬁ N\ . \ V q PV
» 28 EXTERIOR EXTERIOR @
K 26 H K

/" 1"\ HORIZONTAL CROSS SECTION

\3/

/" 2"\ HORIZONTAL CROSS SECTION

N

Wiy,
CH

\

®
®
)

\\‘\
O
\

\Y

FL 33595

BUILDING CONSULTANTS,
813.659.9197

P.0. Box 230, Valrico,

Phone No.:
FBPE C.A. No. 9813

W

Lyndon F. Schmidt
P.E. No. 43409

R

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

JK
BY

REVISIONS

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

NOJ| DATE

DATE: 8/25/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—17184.1

SHEET 3 oF 6

© 2014 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOZJ aNIang ‘Mm*'s 102 (o)

€186 'ON ‘V'O 3dgd SNOISIATY
L616°6S9°CL8 "ON suoyd Ag 31vd [ON]| « ~ |
S6SEE 14 'OSWIPA ‘OEZ Xo8 '0'd \Sv SHOIES ES050: Tailes) M |84 (v102) 03 HIS ol 3ivadn| si/zz/vol L || (X|L] § _
*ONI ‘SINVIINSNOO ONIQTINg @. *AT8N3SSY ¥0 Ldvd ) . =8
,::::::\ g p= g~ 4_
//zdrﬂ J<ZO\ 80¥S¥ "ON "3'd 4004 SSY19438l4 NREE
X2 .4&.&.@& 7, wpuuuds 4 uopuk] 0¥d1SV1d alila|2lE 2|8
//& . 3\ :Ag peupdeud sjuswinooq :10Nao¥d .ml 2 W S m &
Julh S % svZ2. 4
C ! 60vEY 'ON .. IH
B .,
A <
\\\\ Q\wowzmo;-Wo\/ ///I
\\ ®seee g
! o
A HM, v o
o
M M ) =
4 X
i W %
N - »
L4 . e ..V = m
IN 4 - L [0
5 : Ll
PN 1 ”l m
> a . B W Ny =i
it - 3
4 u =D N =
i I Q| . (@]
B a % & ~ %
; it @ > l”
N 1 O 1211%) R 9]
’ v» ® < o % > / %
< = = S &
A s f. - Z W ©
S 4 .V S N_ | N_
: =z
= S =
. x| O xx oz
LY A Ww| T = L
. Y A >0 H >
: b (dAL) | +|
> ~—30vdS WIHS
XYW /L
@
O
o]
Ll
T
ad o<
n|u L
R .
a _.__IL A ’ 4 e
N = pd 1 ] I )
B, " L L N [, -
Y ! N L8 >
I 4 1 m l” e -4 W
. H ay = . L =
> a Vv.. . I” ﬂC.lu_ V "4 ..V m
&, " 4 EC 0p] - : g wn
. o : n
a . $ ®) @\\ 4 b 0
; BN o or [N a )
IS N i L =
M v (@] _M O
1 (@) - = I -
N M m NA.U b 4 . . m
N — = [N =
PN - z 5 KR &
S — = [ a >
[ Y ‘b..‘ "
9] L
IVOIdAL i
xzmlwﬁo oL
S0
("dAL)
~—30VdS WIHS
XYW /L

X ‘BMP'Z-T'¥8TLT-T4\Iuaund\sBuimelq - D\PBTLT-14\s|eroiddy 19npoid ePLOI\LNINYINYId U] ‘Odiseld\sIusiD\Y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-17184\C - Drawings\Current\FL-17184.1-2.dwg, 5X

2X BUCKJ//

MASONRY
OPENING:XV

22.94” MAX.
0.C. (TYP.)

I
|

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

MIN. CLEARANCE

mw

tapcon® | 14 1-1/4° 4 4
E,-co " " " n

utrracoN®|  V/ 1-1/ 1 4
,rw " " 11 11

A e | 316 1-1/4 3 14172

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood.

2X BUCK~//

MASONRY
OPENING

FRAME ANCHORING

ST /»I 6" |~—
<L o
£ W/2X BUCK
pewen| INSTALLATION
= W/1X BUCK —||—T
INSTALLATION
TYP. HEAD &
JAMBS
§ ~
=5
- ~ W
M O
Yo
AW i
'tlf_ TYP
q I

l79.25"

£
=

|<— 26.125" —>|<— 26.125" ——1<— 26.125" ——>|<—>

o

L=
HINGE LOCATIONS

——
@ v
@k

AN
e

L 11 17

"~

11.00" —f=—
49.375"

l/,
{/o)

Wiy,
SCHw,
*“\JCENSg

®
o
)

LATCH & DEADBOLT

LOCATIONS — SGL DOOR

1X/BUCK
INSTALLATION

HINGE DETAIL w/1X BUCK

Rkl
:,
e,

HINGE DETAIL w/2X

2X /BUCK
INSTALLATION

BUCK

<

® ®
/

L
¢

1X /BUCK
INSTALLATION

2X/BUCK
INSTALLATION

ly

STRIKE PLATE DETAIL

0
)
o)
)
oM
z
I PN
Lo
2 5o
Z22a0m
E =9
1 000
:)>n°m
0N .- .
ZOowo
X en®2
- O N -
@ d ¢
v T ng-
[ Zz O
EE(D amw
a £0O 0 .cuw
6% 592%
o .? oo
gy
o
o c
E 6% §
3 0 .
o su
o 2o
o
S =
(@] IO
oo =
Ivd L&
&(j) .o
0y > I
3 S| 2
O o X=
oo nl ©<
w |3 S
D < @
55 e
= o
S &
& &
x>
)
2
e
Lo, ¥
<
o
N |»
W&
a
o B 7]
e
=
[
O |
2
i2
o
a
p)
n
Ll
N
NS
s
O O
_lo
z
DATE: 8/25/14
scAae:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—17184.1

SHEET 5 oF 6

© 2014 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-17184\C - Drawings\Current\FL-17184.1-2.dwg, 6X

BILL OF MATERIALS

ITEM| DESCRIPTION MATERIAL
C |1/4” MAX. SHIM SPACE WOOD

H [1/4” X 2—3/4” ELCO OR ITW PFH CONCRETE SCREW STEEL

J |3/16” X 3—1/4” ITW PFH CONCRETE SCREW STEEL

« | MASONRY — 3,000 PSI MIN. CONCRETE CONFORMING TO ACI

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 CONCRETE

L | 2X BUCK (SG >= 0.55) WOOD

M | 1X BUCK (SG >= 0.55) WOO0D

N |1/4” X 3—-3/4” TW PFH CONCRETE SCREW STEEL

P [1/4” X 2—1/4” TW PFH CONCRETE SCREW STEEL

1 |HINGE & LATCH STILE EDGE COMPOSITE
2 |HINGE & LATCH STILE REINFORCEMENT WOOD

3 | TOP RAIL COMPOSITE
4 | BOTTOM RAIL COMPOSITE
5 | LOCK BLOCK WOOD

6 | DOOR SKIN (0.069” THK.) PLAST PRO/NANYA Fy= 11,063 PSI FIBERGLASS
7 | FOAM CORE POLYURETHANE
11 | JAMB FINGER—JOINT—PINE SG = .42 OR BETTER WOOD
11A | POLYFIBER JAMB POLYFIBER
13 | WEATHERSTRIP FOAM

19 |#8 X 2—1/2” PFH WOOD SCREW STEEL
23 | #10 X 3/4” PFH WOOD SCREW STEEL
25 | #10 X 2—1/2” PFH WOOD SCREW STEEL
26 | LATCH STRIKE PLATE STEEL
27 | DEADBOLT STRIKE PLATE STEEL
28 | 4” HINGE STEEL
31 |ODL LITE FRAME ALUMINUM
34 |#10 X 1-3/4” PFH WOOD SCREW STEEL
35 | GLAZING COMPOUND REDI—SEAL BY ODL, POLYMERIC FOAM P/MERIC FOAM
36 | STRUCTURAL SILICONE DOW #995 SILICONE
37 | SCREW PLUG -

45 | OUTSWING THRESHOLD BY DLP ALUM. /WOOD
51 | INSWING THRESHOLD BY DLP ALUM. /WOOD
52 | DOOR BOTTOM SWEEP VINYL

1.250"

0.985"

«—2.22”—,
| \

@ DOOR SWEEP

v
AR
',,/) o]
7, ey
1, X PR
‘g fuy
\
3
N
N

0.750”

’<74.562"4—‘

—1.250"

JAMB

@ POLYFIBER

~—"—4.56

=

”

——1.250” |=—

( ) JAMB

4.563" ————]

o ]

@ OUTSWING THRESHOLD

%]

ﬁj%;—u

@ INSWING THRESHOLD

—{1.200" |~—

2 Qe LORER.
7,38y
’l/, A\-
unm
BUILDING CONSULTANTS, INC.
813.659.9197

7
P.0. Box 230, Valrico, FL 33595

Documents Prepared By:«,\Ja "
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

PLASTPRO
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

JK
BY

04,/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

NOJ| DATE

REVISIONS

DATE: 8/25/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—17184.1

SHEET 6 oF 6

@ 2014 R.W. BUILDING CONSULTANTS INC.




